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1.

SOCIOLOGY
SRes TR0
Paper -l

5555 _ MMl

Which of the following is not a method of
ethnomethodological inquiry ?

(A) Participant observation
(B) Sociometry

(C) Breach experiment

(

D) Documentary interpretation

Which of the following are causes of
displacement ?

I. Creation of special economic zones
Il. Social forestry
lll. Deforestation

IV. Construction of irrigation projects

(A) 1, lland Il

(B) II, llland IV
(C) I, llland IV
(D) I, lland IV

. The meaning an individual imparts to the

interacting situation may be shared by the
person with whom he is interacting ;
Schutz calls this as

(A) Perspectives of reality

(B) Imaginary perspectives
(C) Reciprocity of perspectives
(

D) Scientific perspectives

1. 54 300 TIE° 00 ) JoiTred $ES T ©
A) $5ogrR HOBe
B) a3 ol

C)
) %

(
(
( @5 Q% 200R00S
(

2. o0t (FHGiowd) Mo BF TTeTER?
| (B8 08 Doty Hn
[l PRy eolsyes
. e THso
IV. Froded (B0 doveao
(A) 1, 5080801l
(B)
(C)
(D)

I, 111 00a%33 [V
I, 11l 5000535 [V

I, 11 55805 IV

3. 8 BOH0 0O 2.8 i wie WRosy
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QT @BE PSR 7B é§§_.3e>e55 QB

$0wo5%). 3¢5 BAD Do ewoeress?
(A) L0 SHEFren

(B) &a:38200 &Syren
(C) SySFre SusEEse
(D)

D) 7> %o
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4,

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A):Neo-functionalism
recognizes integration as
an accomplished fact and
as social possibility.

Reason (R) : Neo functionalism recognizes
deviance and social control
not as realities within social

system.

Which of the following is the correct

answer ?
(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

A caste becomes dominant when

i. It wields economic power

ii. High Educational attainment levels
iii. Numerical strength

iv. High rank in caste hierarchy
(A) Onlyiis correct
(B) iandii are correct
(C) i, iii and iv are correct
(

D) All are correct

4. 308 50y Tt Wgeés 258 oS (A),

Toud wrasy (R).

@O (A) 1 B (BIU TS0 TSN,
TIPS PGB K80l

o (R) @ 6o doopeass Fuorey
oRE® g0 SRR B (5
& 0.

52 (300 TS® DB BOWS BRI 9

(A) Asgse R oy

(B) A, RTo&r Sgsm

(C) A, 83 > R g0

(D) A, RBo&r Sy

. 28 5000 RS Do Jioct?

i. 505 2000 HOw RN
i, &5BI000 ATBBE FROIYE
iii. NCERSVCSIEVESRVT SNt
V. %0 SBS° e Fos® eins
(A) i BFBD 50608
(B) i w0000 ii Boti SO
(C) i, i So0ckos iV 503300

(D) esfyaior 5033w
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6. Match the following theorists with their 6. S0 5055 e THes TO O B
concepts.
23BATWN0.
I. Geoffrey Alexander 1. Communicative
. B wBmesd 1. (5%l Wi
Action
Il ePe)es FEyoy 2. (550w
Il. Talcott Parsons 2. World System ®
5 (¥4
lIl. 1. Wallerstein 3. Social System Il »&o8a0 3. RS 9503
IV. J.Habermas 4. Neo-functionalism V. 8.5%0056 4. DS @§6§W6°
Codes : I | [} Iv
| I I v (A) 4 2 1 3
(A) 4 2 1 3 (B) 4 3 2 1
(B) 4 3 2 1 (C) 2 1 4 3
(€) 2 1 4 3 (D) 3 4 1 2
(D) 3 4 1 2
. _ 7. 305 525 grenes® D2 GAgels TERS
7. Which of the following concepts are
JowododR ?
related to phenomenology ?
. Shared meaning | 5B%ed Sotty e
Il. Phenomena Il. Ssetren
IIl. Reciprocity of perspectives lll. SHZare B85
IV. Typification V. Sseeome Qoo
(B) I, llland IV (B) 11, 1l So0cs IV
(C) ILandlll (C) 1, 15088011
(D) I, lland IV (D) 1, I 508a50 IV
e A-22-03 |




8.

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Agriculture in the Indian
context is not merely an
occupation, it is a way of
life.

Reason (R) : There is a nexus between
caste and class in agrarian
structure.

Which of the following is the correct

answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct but R is
not the explanation

(C) ‘A’ is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

According to Randall Collins, conflict
arises because

l. Of unequal distribution of desirables-
wealth, power, prestige etc.

Il. Individuals try to maximize the
possession of these desirables

lll. Those who possess more try to
maintain status quo

IV. Those who possess less oppose
those who dominate

Codes :

(A) 1,1l are correct
(B) 1, Il are correct

(C) I, il are correct
(

D) land IV are correct

8. 30% 30w a°3'°§e>e5's 25 o (A), &0

ey (R)
BBFES (A) : 5r5d0a%0 Sarwed® Sgmdraio
oo o8 QO 0. wh el

290 Awde.

w80y (R) 1 wgdrolo Fures dovgses’
5p0, VFo Loy Sowoko
o,

200 T%3S° D8 ¥3Re ?

(A) Aot R sy
(B) A %s00sse R Totr 8T 520 R &8
D0es 3P0

(C) A gy v RETe

(D) A %5805 R otz &3

9. Trord Ty A0 (30 oues weld e

d0el?
l. ey, %8, TR0 V0GP0 el b

cel

Il S50 708 Sy TR PoBTRE B
SED [Bowsye

&

[l 555 Bowes Semrss B%o $oRESte e
eS8 T Badye

V. é§b§ 9;39(_\2 é:é& oot o)§.)b_§ e;s?_g éé& reeN)
265@55025&%0

(A) 1, 1115252
(B) I, 11522
(C) I, Il 52
(D) 1, IV 5352

[+

A-22-03




10. Match the following authors and the village

they studied.

Author
I. M.N. Srinivas
IIl. G.S. Ghurye
lIll. Andre Beteille
IV. D.N. Majumdar

(A) 2 4 1
(B) 4 3 2
(C) 1 2 4
(D) 2 1 3

Village
1. Sripuram
2. Rampura
3. Mohana
4. Lonikand
v

3

11. Match the theorists with theories.

I. Structural Marxism

Il. Neo-functionalism
lll. Critical Theory

IV. Post Modernism

(A) 4 1 3
(B) 1 4 2
(C) 2 3 4
(D) 3 2 1

1. J. Derrida
2. L. Althusser
3. P. Colomy

4. D. Kellner

v

2

10. 308 0873 Soosed’ s eiatsse W

11.

([TPRTPOR0 2R,

feinlotLl 1)

. 0.0, B

Il 2.5, 155G

. esoc 22

IV. &.08. soeromd

4

So& gy Sorw T8ROt O ?ocgo@e@s

SBHGWOR0.

l. QOO Y T&e
Il 5% B o
lll. I8, Srpogo

V. es&odsvoesss

1

—

. 2.a0@

N

. ané. e.—seu@%g
3. 5582w
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12.

13.

14.

The characteristics of modernity,
according to Anthony Giddens, include

I. Capitalism
Il. Industrialism
Ill. Governance

IV. Military power

Identify the correct code.

Code :

(A) 1, Iland Il are correct
(B) I, llland IV are correct
(C) I, Iland IV are correct
(

D) Il, llland IV are correct

The book ‘Economic Development and
Social Change’ which compares ‘Dry’ and
‘Wet’ villages was written by

) M.N. Srinivas
B) T.S. Epstein
)
)

The concept of ‘post-modern’ was used

for the first time by
(A) Anthony Giddens
(B) Arnold Toynbee
(C) Max Weber

(

D) Jacques Derrida

12.

13.

14.

VAT
30 A&y Doy (5700 esGiolss oferes
0?
| 22320800 39690
Il FOFeRES
. S
IV. 205 %3

gt S8E0 MoBowswmse.

$E, ;
(A) 1, 11, 550055 1113582
(B) 1,1, w500k IV 589
(C) 1, 11, %0000 IV 352
(D) 11, 111, 500050 1V 552

TV 08D, ol [PRTFess oo
‘SR8 Behnoo wol TR Ded’ &R
RDRTPy TROWR TLICD T2

A) do.0%. %X)w%o

(A)
(B) 3.5, s
(C) o
(D) &

@)

. 5B
d. %

2’\0

D

‘@EITOBY’ TN B JO TECD AVEO?
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15.

16.

17.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : During the period of

renaissance, madness
and reason were not
separated.

Reason (R) : The French Revolution and
the reform movement
brought the mad in contact
with the persons who were
experts in medicine,
psychology and psychiatry.

Which one of the following is correct ?

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not the
correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

The concept of ‘ponopticon’ was given by
(A) Michel Foucault

(B) Jocques Derrida

(C) Anthony Giddens

(D) Max Weber

The death of a child in the first four weeks
of its birth is

(A) Infant mortality

(B) Neo-natal mortality
(C) Perinatal mortality
(D) Post-natal mortality

15.

16.

17.

8ot Dotk TR o, e85 @RS (A),
Towt e (R)

OIS (A) : imtodisn $96° %o Haste
SHoom Soditio, SEee ST BD).

50 (R) : (o Qiso, Mo dtigi
SEFITRCTI 208 R0Bo T TO & T,
205 DepE T, WY 7o Aipewe $8Fe
SRs3.

200 TS D8 98 ?

$E, ;

(A) A, RBo&> $ow. R A %1500 Q%0
et

(B) A, R To&r 5gsa. R A % 800 Jdes
(C) AsgaR sy
(D) A &3y R sge

TTRER T RAD W82
NESEEN
B) &S aoee
C) wof Gy

(
(
(
(D éfgga Db

)
)
)
)

25 P50 2P T TS e BN T
D002

(A) B0 208e%0
(B) 2335 wexd sobere

(C) 8¢S wobeo

(D) G Reod oviero
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18.

19.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Deconstruction discovers
hidden assumptions
about a text. There is no
knowledge outside of
society, culture or
language.

Assertion (A) :

Reason (R) : Things have a single
meaning which embraces
fragmentation, conflictand
discontinuity.

In the context of the above two statements,

which one of the following is correct ?

Code :

(A) (A) is correct, but (R) is wrong
(B) Both (A) and (R) are correct
(C) (A) is wrong, but (R) is correct
(D) Both (A) and (R) are wrong

Assertion (A) : According to K.L. Sharma
Agrarian structures in
India have been uneven
resulting in diverse land
tenure system.

: The gulf between land
tenure system and social
structure created an even
feudal equality which is
still prevalent in various
aspects of society.

Reason (R)

Code :

(A) Both A and R are correct
(B) Ais correct but R is wrong
(C) Ais wrong but R is correct
(D) Both A and R are wrong

18.

19.

308 gnw 3%158253 2,563 (BSOS (A) Tond
w853 (R)

BSOS (A) : o5 Jsverd’ wovbivom &y
TSR0 &§S§§5 5057 000008, Sarwe,
SOZ D,y G VOOV EPRRICEELD.

80 (R) 1 ook o3 wgo
G0e2000.0 Polssm, e, Soscedt

Soodoed.

208 gy T3S N8 HHd 9
§ :

(A) A58 R 8088 3%

(B) A RTotr o

(C) A g s R 5008

(D) AR 3ot 50 550

BOFED (A) : 3. 36 58, oy T 5o,
D W508® HgHTras ABows LRI
C0Cs NG T Wgded> 0 Sed.

B0 (R) 1 300 Teo H08, TN 0800
05 G BT I g SRTOTHIS
TOBBoR. Wb fosr Surred® wu @OWQ’S;E
oD &oB.

(A) AR Totr 5o

(B) Agisd R sy

(C) A vy R ¥gks

D) ARTe&>» 9%
(D) )

[+
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20.

Twin concepts widely used to analyse
Modernization of Indian society are

(A) Social Structure and Tradition

(B) Social Structure and Function

(C) Social System and Cultural system
(D) Social Action and Social system

20.

FUSADH Sareed® etedss é’)éémess TSI
TG 208 TR0

(A) TR Q0D W00k BoETroixe

(B) a7 D0, $o008s (3580

(C) FFameds Dig o800 FPoif))BE Wgi
(D) 7S B85 [8o8aU0 RIS W

21, ;’lr;iesgir:::;a;lelgfurrectlon in Bihar took 21, BES $omnd D SSoorrss sBASS
Aptas?
(A) 1850-51 (B) 1853-54 (A) 1850-51 (B) 1853-54
(C) 1855-56 (D) 1859-60 (©) 1855-56 (D) 1859-60
22. Match the tribes with the State of origin
l. Koyas 1. Madhya Pradesh | 22. 808 52 esOo eoeiss 70 Triged’
Il. Tharus 2. Tamil Nadu BEERTLR0
lll. Todas 3. Andhra Pradesh | Sawes 1. Rofgise
IV. Kamars 4. Meghalaya Il. erires 2. BT
Code : M. S 3. wolas
I I i IV IV. 5557600 4, J0PP0%
(A) 1 2 4 3 | il ] v
(B) 4 1 3 2 (A) 1 2 4 3
(C) 3 4 2 1 (B) 4 1 3 2
(D) 2 3 1 4 (C) 3 4 2 1
23. Arrange the following in a sequential (D) 2 3 1 4
manner. Use the codes given below.
. Increase in size of population 23. 300 TR W (008" oo
Il. Specialization | e Soagd® wootote
lll. Division of labour Il @ege
IV. Competition . (8550 Hess
Code : IV. %3
(A) L1, 1IVandlll (A) 1, 11, 1V &8ass I
(B) Il 1, llland IV (B) 11, 1, ll558c%s IV
(C) I, IVandlil (C) 11,1, IV 0o I
(D) LIV, ltand il (D) 1, 1V, I1580%ss 11
I 11 A-22-03|




24,

25.

Who among the following can be called
structural- functional sociologists ?

I. A.R. Desai

IIl. M.N. Srinivas
lll. Louis Dumont
IV. David Hardiman

Choose the correct answer from the code
given below.

Code :

(A) 1, 1land Il are correct
(B) land Il are correct

(C) llandlll are correct
(D) I, llland IV are correct

Match the author in List | with the
concerned book in List Il.

List—I (Author) List— Il (Book)

l. G.S. Ghurye 1. Peasant Resistance
in India

II. S.C. Dube 2. The Remembered
Village

[ll. M.N. Srinivas 3. Social Tensions in

India

IV. David Hardiman 4. Modernisation
of Indian Tradition

Modernisation and
Development

Choose the correct code :

| I m v
(A) 3 1 2 4
(B) 2 1 4 5
C) 3 5 2 1
(D) 4 3 2 1

24,

25.

80 287, TOS® o 0D BT T
DRT°E TIQLTO
l. . esB. Saedbo
Il do.d3. B
. eraass &owrods
IV. C2& 80500
2085 g2y SEed® BT TR B Qoo
§:
A) 1, 1155000555 1115858
B) |80 11:59:5%
C) I15080%s 1115959

(
(
(
(D) 1, 11l 550a% 1V 58199

~— N N e

5635 - 1 §° 50y SBaved’ B35 - [16° 52y

DR wBREHR

S35 - | |
I 2.8, 153 1. 2BoS TNy g0
OGS
Il 8. . e 2. & Sdoowd JB&
. do.dv. B 3. s By ge
ROLASR®
IV. G& 58880 4. APESESSy &
08058 (BERD,
5. R0 &
aueiaoed
3551 56 50 00w
| I 1] \
(A) 3 1 2 4
(B) 2 1 4 5
(C) 3 5 2 1
(D) 4 3 2 1

[+
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26. Which of the following factors contributed | 26. gasgﬂagsmgé BB STEFT OO
?
to the development of bureaucracy “ L ég)isﬁ 20
I. Administrative task I, Gorgr0n GQs S
ll. Cash economy
. BoEmroios wisse
lll. Traditional authorit
Y IV. %5905 3033
IV. Market situation 555;3 .
Code : (A) 1, 158a5 IV
(A) I, lland IV (B) 11, 1115500u20 IV
(B) Il llland IV (C) 1, 558055 1
(C) I lland 1l (D) I, IV &8s |
(D) I, 1IVandl
27. 205 B8 ISR R Aot e TES S8
27. Arrange the concepts in which they s
. . w?bm:s;o
appeared first. Use the code given below : _
l. Sanskritization (Srinivas) | e Sese (@:mo)
IIl. Tribal — peasant continuum (Surijit I :;Sam 0w - 5g8 SrhioRy (@oéﬁé
Sinha) T
lll. Purity and Pollution (Ghurye) . 5558, w00 (1)
IV. Homo Hierarchicus (Dumont) V. % 3poa s (o)
(A) LIV,
Code :
(B) 1L, 1,1V
(A) LIV,
(B) 1,1, 1,1V (©) 1LV,
(C) I, 11V, 1 (D) IV, L
(D) IV, 1,11, i
28. sl Sops® BTN Bk D Do
28. The problem of alienation in a modern 3503, Do nte) ?
organisation could best be resolved by
. . (A) 33@5633@ é@@bé bgéé
(A) Grievance redressal mechanism ®
(B) More capital investment (B) @5 Begwc
(C) Better selection procedure (C) DTS Dot 968
(D) Trade union activities (D) =55 Soso EgERres
[ % 13 A-22-03|




29.

30.

Which of the following does not explain
why domestic violence is so common in
society ?

(A) Emotional integration within the family

(B) Limited violence within the family is
even tolerated and approved

(C) Social approval of wife battering

(D) Violence within the family reflects
broader patterns of violent behaviour
in society

Arrange the following in a sequential order
I. Alienation

Il. Polarisation of classes

lll. Class consciousness

IV. Class struggle

Code :

(A) 1L IVandl
(B) IV, Ill,land I
(C) L, and IV
(D) LIV, lland Il

29.

30.

KISTa) w°3'°§e>e5's Sored® O N oK

FTEer e T Q

(A) Se00208° ERIRTOBRS SpSg®

(B) Seowod® 653% SIEESLOONE
Sarowtio, ardontie

(C) grEgo0 SroRovtio FWHTE § eaTo
A

(D) Soesooeod™ armoid Surredty Srertes
e Sgoeiss HFODDBS.

208 T3 WE (K008’ BBy
l. $oe&so
Il 35TP0 Kog Syiiaos DY
RSN
- W% Sogades
g6 :
A) 11,11, 1V 508050 |
B) IV, I, I500c%s I
C) I, NI, 11508050 IV

(
(
(
(D) 1,1V, 1155005 11

)
)
)
)

3t ﬁ;;a:: ee ;ZZ;(:ISer? ti)r;;’::)S\;vequential order 31. 308 3R TIQ V00D S50’ B30
. Risk of infant mortality I' %’%j:saém@ fieko
Il. Food shortage |:: i::;iizéﬁm
lll. Feminisation of poverty <
IV. Drought IV. Seasy
(A) 11,1V, 111, | (A) 1LV,
(B) 1,111, 1,1V (B) 1,11, 1,1v
(C) IV, I, 1,11l (C) IV, I, 110
(D) IV, 11,111, 1 (D) IV, 11,111, 1
(IE: 14 A-22-03]




32.

33.

34.

35.

A factory is considered as a social system
because

(A) ltis related to society

(B) Interdependence of its components
(C) It exists as a subsystem
(

D) It depends upon larger society

Match the following
List-1 List-1I
I. Preventive measure 1. Rehabilitation
centre
ll. Stress 2. Intervention
strategies
[ll. Health asylum 3. Psychological
depression
IV. Health policy 4. Immunisation
| il ] v
(A) 4 3 1 2
(B) 2 3 4 1
C) 4 3 2 1
(D) 4 1 2 3

Which of the following facilitates effective
achievement of organisation’s goals ?

(A) Rigid bureaucratic system

(B) Harmony between formal and
informal domains of an organisation

(C) Centralised power
(D) Laissez-faire approach

Who propounded labelling theory of
deviance ?

(A) R.K. Merton
(B) Erving Goffman
(C) Howard Becker
(D) Sutherland

32.

33.

34.

35.

2.5 SO%yTOR) 8.8 TR SN
eI 0EIOLTEI. DO LEDQ
(A) SRS Soevodo Gol S°ed,

(B) TSR Qg wogigoss, H8Treros
Socexodo

(C) o8& &5 & Jgmpnd
(D) & SRreop TR &od SPexd

308 TR BHHBIWRIRD
e — | -l
. Jaesestarosoe 1. dovgssow Sole
Il eQé 2. Yrgr 5us®
FORUERRLY
ll. e esfasioo 3. ol Soorade
V. e.—sssﬁg NGO 4. Seeowakoses
I ] ] v
(A) 4 3 1 2
(B) 2 3 4 1
(C) 4 3 2 1
(D) 4 1 2 3

2.5 Bk B oFRs FEoTeo 3
@ -
Frresntsoran?

(A) 585505 QS N
(B) o5 8038" Eonls, 6B JgFTme HoGy
(C) Sob%o%s
S “
(D) ‘w5 550

SR DB ST RO DCTHU?
(A) 633050

(B) J0soh Kigwed

(C) FE =

(D) $&berek

[
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36.

37.

38.

Arrange the following in a sequential order
l. Conciliation
Il. Mechanisation

lll. Strike

IV. Retrenchment
Code :
(A) 1,1V, llland | (B) L1, lTand IV
(©) 1,1, Mand IV (D) IV, 1l Tand Il
Which of the following are indices of
poverty ?

|. Low per capita income

Il. Low standard of living

lll. Educational attainment

IV. Insufficient intake of food
(A) I, lTand Il (B) I, lland IV
(©) Lland IV (D) I, land IV
Given below are two statements, one is

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Globalisation processes
cause stress and strain
in modern family life.

Reason (R) : With the advancement in

industrialisation families
have become more and
more materialistic and
consumeristic.

Which of the following is the correct

answer ?

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not the
correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

36.

37.

38.

208 T3 WE (K008’ BBy
l. ooed
Il. ciro@dstes
Il 30,
V. &hod
s*&
A
B
C
D

[, 1V, 1508050 |
[, 1, 11300c50 IV
1,1, N00c50 IV

(
(
(
(D) IV, I, Iss8a%2s Il

~— N N e

DEOY $r2BD?
. ©E5 % o0 esaraie
Il Bx% 55 Jras
ll. e s
IV. S50 roess esists dsses
(A) 1, 11 8as0 1
(B) Iy 1l Se8cs0 IV
(C) 1, Il 58055 IV
(D) 1, Il %s8a¥s IV

~— N S e

@O (A) : (sostes HEabes ey
Soeasow Bovos’ £, [
FOFRINTeSE, @raSt
SCALCEMOUINEU I
FPOETEO,
NIOITHTEORIT
STEBITHES.

Bod TIS® DB VOB HHTEGe ?

(A) A, RSt $oe. R A 800 J%tes
(B) A, RTo&r $ow. R A 800 Jkdes oo
(C)

(D) A sy, R $ga

$rs5p (R) :

A 500 R iy

[+
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39.

40.

Who said “As the process of
modernization becomes all-
encompassing it also generates inter-
structural tensions and conflicts between
traditions (past and contemporary)” ?

(A) M.N. Srinivas
(B) G.S. Ghurye
(C)

(D)

Yogendra Singh
K.L. Sharma

Given below are two statements, one is
labelled as Assertion (A), and the other as
Reason (R).

Assertion (A) : Privatisation encourages
adult male labour force.

Reason (R) : Contractors employ cheap
labour force.

Which of the following is the correct

answer ?

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not the
correct explanation of A

(C) Aistrue but R is false

(D) Ais false but R is true

39.

40.

es&o088es e Boa?é 08 wodd 8D
SO0, FPoSTIOSTYs (Néo, @’;@éo) BTN
PTEIVI Egéé‘é_go&.

(A) 0.3, B
(B) £.35. 1S
(C) &5l 2oh
(D) 3. 6. %0,

800 Tot T @sdod. oSS (A),

o0y (R)

@O (A) : Redsves RSB @RS
DBOBRTR [yl

809 (R) = Soerits WHEH ToSoeio

508N H0TED.

200 T%3IS° D8 ¥gR8 ?

(A) AR Tor 5o, R A %508 %t

(B) AR Tt 5o, R A % 508 %t
et

(C) A0 R 8%y
(D) A sy, R$gse

_ _ _ , 4. O JERS SRS 902
41. Which of the following help in nation

building ? l. LBy Sertoen

l. Wide roads Il B0

Il. Good Governance lll. $36 Fcioss

lIl. Communication technology IV, 02D 555 Ssoves0

IV. Nil Corruption o BES s KaBeSsas
Choose the correct code : = -
(A) 1&1II (A) 1, 508050l
(B) 1& IV (B) I, %00a%0 IV
(C) n&in (C) 11,5080 M
(D) &IV (D) 11, 50080 IV

I 17 A-22-03|




42.

43.

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : The pluralistic character
of Indian society is
eroded by waves of
globalization.

Reason (R) : The uniqueness of Indian
society is unity and
diversity.

Which of the following is the correct

answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct but ‘R’ is

not a correct explanation of ‘A’

(C) ‘A’ is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Obesity is mostly a
disease of high
income group.

Reason (R) : The rich people in general
do less manual work.

Which of the following is the correct

answer ?

(A) Both ‘A’ and ‘R’ are true and ‘R’ is the
correct explanation

(B) Both ‘A’ and ‘R’ are true, but ‘R’ is not
the correct explanation

(C) ‘Ais true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

42.

43.

8o 5P Totss s’ el EavEs (A)

Toud wr o (R)

@O (A) 1 5rE8o reed® eirsEe
oSS QTORY
6@9@0@550&.

859 (R) : roda Sire
BBES, PryroS® D50’

200 T%3IS° DB ¥B BRrese ?

(A) Aot R sy

(B) A w500 R Totr $o%. 0, R A%

550 D9t S

(C) A gy v RETe

(D) A %5805 R otz &3

8ol 3y Sot> e’ 6.5 EOFES (A)
Toud wr o (R)

oS (A) : Sresae Noope ©fs
eSTPO ST By esedd)

80y (R): 5% azes HXo% T0U (i
koot

200 T%3IS® DB ¥B BHorese ?

(A) A, RTo&> 5T, R 800 dades

(B) A, RTo&> 50w, R 808 dutes oo
(C) Awgos R sy

(D) A sy, Rsgse
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44. Given below are two statements, one | g4, 808 QDQ;QBOC\;JWS@@‘B 2563 (SO (A)
labelled as Assertion (A) and the other as B Sn B (R)
Reason (R). 0SS (A) : R0FR0S SN’ 5508
Assertion (A) : Industrial cities are free TS )
from slums. 8oy (R) : FoFeiss FENes [Taoes
Reason (R) : Industrial projects do not TOE0R eEQoNBTEIBOTHO.
attract rural labour force. 208 T3S0 Do 500 SEITC?
Which of the following is the correct (A) A 5398 0 R iy
answer ?
_ , (B) A 500k R So&kr $Tw
(A) Ais correct, but R is wrong (©) A 555, 5 R 50
3
(B) Both A and R are correct D) A Eb:?oﬁoo R ;w o8
(C) Aiswrong, but R is correct ° "
(D) Both A and R are wrong 45. 08, 258 <50 B 100D BOAER00
45. ‘Turn over’ is used to refer to (A) 2o, HodEEowd
(A) Migration and Migrants (B) Ro ddes, Do T
(B) Emigration and Emigrants (C) %o e, Do W0
(C) Immigration and Immigrants (D) 2o 2eo/ Do Iy mts Kodaioo Do
(D) Immigration / Immigrants and BRI 080 B
Emigration / Emigrants
46. OoKdtaow Foresescd® 3o gy eI
46. Who among the following plays 2O (PR B Faxdeed ?
inst.rurner_nal role in nurturing gendered (A) BhgEed b,
socialisation ? ®)
0 (>b}
(A) Significant others  (B) Relatives o %jj;oso“
(C) Peers (D) Media (©) = S
(D) B8 wrggores
47. The factors that discourage migration are
i. Distance 47. 20850 ALOTIEER0 SO0 N9
ii. Uncertainty of income and employment i St
iii. Fascination for new place i, esoraive, &&iTed® @B
iv. Double establishment expenditure i, 5% Poo Pey witd
Codes : iv. otk Ferp Syavo
(A) ialone is correct §%&, :
(B) i, ii are correct (A) BB 506398
(C) i, ii & iv are correct (B) i, ii oo 3003w
(D) iii & iv are correct (C) i, ii RoB0¥0 IV 06300
(D) iii %2005 iv 2063500
[ % 19 A-22-03|




48.

49.

50.

What is the response of National
Educational system to pubic concern
about population issues ?

(A) Population Studies
(B)
(C)
(D)

Population Education
Demography

Family Planning

Globalisation implies
(A) Exclusive preference for Indian goods

(B) Exclusive preference for foreign
goods

(C) Integration of different markets

(D) Integration of international market with
Indian market

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : The status of health of
tribals India has
improved in recent times.

in

Reason (R) : The tribals practise customs
injurious to their health.

Which of the following is the correct
answer ?

(A) Both A and R are true and R is the
correct explanation

(B) Both A and R are true, but R is not the
correct explanation

(C) Aistrue but R is false
(D) Both A and R are wrong

48.

49.

50.

e @owéf B WPErAiFeD dai AT
S50 BRPERROR?

(A) wTogreose

(B) wdver 2&g

(C) =g 7750

(D) Sseasoey (Hewos

BhosTes eiorm..

A) o808 HRGRED (PERD Fhsio
B
C

QTR HEYOB (PR Fsio

(A)
(B)
(C) 28 %0705 Bgmidee Sapko Bokbie
(D)

D) 5rodats 957058 558 Bame w7 5w

éﬁgo_%o Sooso

8ol 3y Totss w38’ 56 oS0 (A)
Toud wr o (R)

BBFES (A) : ro5tied’ 3dnd Tecs’
380 LY e.—sSsﬁgo WHBER.

RO (R) 2 380 edoew e.—sSsmngé )
SRR STTOC eIl

200 T%3IS° DB ¥B BRrese ?

(A) A, RTo&> $gsw. R, $8 %t

(B) A, RTo&> 5T, R, $0 Q5tes oo
(C) Asgoa R &%y

(D) A 50805 R Soir Sy

[+
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51. Given below are two statements, one | g1, 8o 333326606333@5@5‘ 2563 PO (A)
labelled as Assertion (A) and the other as
Reason (R). Tl & 85 (R)
Assertion (A) : Water borne diseases are ®o (R) : wr0Bied 03 oo
common in India. e Ferveo
S “
Reason (R) : Most of the people in India w0 (R) 2 47080508" Tromiood ues
consume unsafe drinking LUSE SOV THOT.
water. 300 T g warEse D8 9
Which of the following is the correct
answer ? (A) A, RTo&> $gsw. R, $8 e
(A) Both A and R are true and R is the (B) A, RTotr 505, R, 835 2des 5960
correct explanation (C) A0 R &y
(B) Both A and R are true, but R is not the D) A s, R
correct explanation (D) Aoy, Regon
(C) Aistrue but R is false
(
(D) As false but R is true 52. 22O AT O EOSRIT &IHE?
i, (rodah B
52. Which of the following are barriers to i alieme
nation building ?
l. Regionalism !“' S5Bwo
Il. Secularism V. &8
Ill. Naxalism (A) 1, 5585 i
IV. Education (B) 1, %o0cwo i
(A) land i (C) N, %008a%0 11
(B) landlll (D) I, %00a50 IV
(C) lland
(D) llland IV 53. (Sousten “@bo T JRrEs
3 90 BB IoKES” 9 I8
53. Which author has defined globalisation as ROROFTER SpBLe °®
“the intensification of world wide social UyedoT?Eo?
relation .....” ? (A) %gagw@
(A) Goran Therborn £ E
(B) Malcolm Waters (B) Sy aresdy
(C) Anthony Giddens (C) o8 ass,
(D) Daniel Bell (D) &0c5:86 B8
I 21 A-22-03|




54.

55.

56.

In a gendered society, household chores
become the major responsibility of

(A) Entire family
(B)
(C)
(D) Aged

Women

House maids

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : India has been able to
launch many satellites
with help from other
countries.

Reason (R) : Satellites have aided in
immense growth of
communication.

In the context of the above two statements,
which one of the following is correct ?

Codes :

(A) Ais correct but R is wrong
(B) Both A and R are correct
(C) Ais wrong but R is correct
(D) Both A and R are wrong

Which one of the following is NOT
correctly matched as an impact of
globalization ?

(A) Education

High capitation fee

(B) Industry — Entry of multinational
companies
(C) Politics — Corruption

(D) Agriculture Spurious fertilizers

54.

55.

56.

DoAY DY &xy Wreed’, goed B8 M08

e e

(A) Soexsoese wode
(B) oo

(C) Ko S8

(D) p&ses

So& Bots TS ONserao.

B8>S (A) : 380 S7re wogsed’ oo
TP (Tt @oé@éoé’sé JouciOnod.
80y (R) : eeidiriston SHrmey, B Soro
EAELE DSBS EIRBIIRECD.

RIS IR 50N 9

(A) AxesoR sy

(B) A, %500%5 R Sotr ST

(C) Asy, =R ST

(D) A, 520050 R Totor &3

8005 0 [Ed0DSEy FHeTarS’ D6 000 T ?
(A) 5)(‘.55 @@g ?523éé§ 2323’
(B) 800 LTS Koo (Fawe

(C) ooedoires S

(D) wgorase 58 dspes

[+
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57.

58.

Given below are two statements, one
labelled as Assertion (A), and the other as

Reason (R).

Assertion (A) : Employed women are also
subjected to discrimination
and harassment.

Reason (R) : Economic empowerment of
women ensure women’s
progress.

Which of the following is the correct
answer ?

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not the
correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

Who of the following sociologists
contributed to sociology of development ?

. Max Weber
II. Emile Durkheim
lll. 1. Wallerstein

IV. Talcott Parsons

Choose the correct answer from the codes
given below :

(A) land Il are correct

(B) land Il are correct
(C) lland Il are correct
(

D) Iland IV are correct

57.

58.

80 Totk T @R, (oS (A),

oo (R)

@O (A) : sEGrS® ey Woirsies X
QE80, 54550 AT o,

55 (R) : 505 FOT00 Soirde PR
G908

Bod T%3S® DB ¥gR8 ?

(A) A, RTBo&> 5o, R, A 5 800 Jdes

(B) A, RToi> 5gw. R, A 5 800 Jdes
et

(C) A0 R 8%y

(D) A sy, R$gse

i@ Sure T8 SRS Shre
Togered 0L
l. w08y e

Il J%0& &8 3

lll. 270823

IV. ememes Py

208 T3E° 5T S°ED0 H0oBHa

(A) 1, 1l 5352
(B) I, Il 5208
(C) I, 1Nl 535

(D) 11, IV 532
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59.

60.

Assertion (A) : An American economist,
Walt Rostow, in his book,
‘Stages of Economic
Growth’, with the sub-title,
‘A Communist
Manifesto’, argued that
economic development
takes place in well
defined stages, and
mapped the process out
clearly. Rostow further
argued that development
is only possible where
the socio-economic
conditions that promote
money saving among the
population exist.

Indians have, in general,
a saving habit. That is
contributing to national
development.

(A) Both A and R are true and R is the
correct explanation.

(B) Both A and R are true, but R is not the
correct explanation.

(C) Aistrue but R is false
(D) Ais false but R is true

Reason (R) :

Which of the following are true in the
context of ecofeminists ?

l. They cause
degradation

environmental

Il. They resist attempt to deforestation
. They protect environment

They exploit forest resources

(A) land IV (B) llandil

(C) lland IV (D) landll

59.

60.

80 Totk T @R, (oS (A),
oo (R)

oS (A) 1 o0z Wi Towg §
TR, &% D50 /S i
57 (B8 ¢ ) 8
ESaTgiy SRS’ ey
e;sé',):@% NG o
2BoMOB08 T (BHEa¥ade
EPC QST DOCKHETYES.
QRS FHoEE, «s0% BOZBowS
2gS® PEaySe
(D50 e BIFER
P8 Fegod X TP
DOCITETE.

ZPEAT0OE JSEIeTT
TP WO G, 0
STdipas Frmsneaod.

200 T%3S° D8 ¥gRe ?

(A) A, RTo&> 5o, R, %0 58 Akt

(B) A, RTo&> $giw. R, 50 800 Jkves 596
(C) Asgna R oy

(D) A sy, Risgid

By (R) :

Roaree STREUED UEesS® 308 T3S’ N8 ¥ga9
| Tt Sorgsties ey SOACS.
Il eoesQ SRRy D5oC,HERS (HOKDy e,
lll. Soegasesd, S§Ee.

V. €585 Bon&Hs T8 SPkoXooerss

(A) 15080500 IV
(B) 115080525 1l
(C) 1005 IV
(D) 1508050 Il

[+
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61.

62.

Identify the characteristics of social
development.

l. Infant mortality

Il. Governance

lll. Female literacy
IV. G.D.P

Code :

(A) land Il are correct

(B) land Il are correct
(C) lland Il are correct
(

D) Iland IV are correct

Assertion (A) : Women enjoy higher
social status in India as
they have progressed in
the spheres of education,

employment and politics.
Reason (R) : Activism of women’s
and civil society groups
has resulted inenactment
of legislations against
discrimination, sexual and

domestic violence.
Identify the correct answer :

(A) Both A and R are true and R is the
correct explanation.

(B) Both A and R are true, but R is not the
correct explanation

(C) Aistrue but R is false
(D) Ais false but R is true

61. el OPHY oFerets HGolsKe

[ 3% Sobemed

[l. 50re

lll. So eXous®

V. £.&. %

(A) 1, 11 s

(B) I, Il sgisa

(C) I, Il ssgsa

(D) I, IV 5355

62. 3ol Toty T, oSN (A),

ooy (R)

BSOS (A) : PSS Qg éggﬁo,
oredoired® Boirses @?‘DQ}%
FROTEL. Toeae R=ON C®
TR0 FROVNOMLL.

B (R) : K0S, TP HoPTY FTHTY

Hg S Toh, M arciels Hdsem

DEPSR (B O,

200 T3S° DB ¥THd ?

(A) A, RTotr $ose. R 5 8508 duves

(B) A, R Tt $ose. R % 8508 duves

0
(C) A 5300 R o3y

(D) A s, R 508
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63.

64.

This consists of two lists of authors and

books. Match an item in List — | with an
item in List — Il
List-1

|. Eisenstadt S.N. 1.

List-1I
The Passing of
Traditional Society

Il. Harrison D. 2. The Modern World
System

[ll. Larner D. 3. Modernization :
Protestand Change

IV. Wallerstein I. 4. The Sociology of

Modernization and
Development

Code

I I n Iv
(A) 1 4 2 3
(B) 2 3 4 1
(C) 4 1 2 3
(D) 3 4 1 2

Assertion (A) : Malthus opined that the
power of the population
to increase is greater
than the power in the
earth to produce food.

Reason (R) : Population cannot be limited
by the means of subsistence.

Code :

(A) Both A and R are correct
(B) Ais correct but R is wrong
(C) Ais wrong but R is correct
(D) Both A and R are wrong

63.

64.

308 gy By 1 6% sucssseis, Oy 11 6%
RDRTOVR BORTWRD.

e - |
| ®u0P& . 1.

o -l

& Fvoh esh
BEsRE e
& %oesly w86
e

SRS RS
B wok& Tok

& Fagsred esh
Wc‘é@éé{g ok
VS RN 0]

v

[l s5%0%8 &. 2.
lll. 358 &. 3.

} W@S%S o) 4.

A
B
C

D

N A~ N

(A)
(B)
(C)
(D)

w A~ N =
N W = W

8o Dotk TI@idnd. oS (A),

ey (R)

@O (A) 2 esitE DBoroses® §rRe S
5% 207 00N 68 Q555
zs.mgs QAU

By (R) : BoF>0 DY P

polevticlliotwiRlniat

208 T%3IS° DB ¥B BRorese ?
§:

A) A 558052 R Sot> 5058
B
C

A 5356 0 R 83y

(A)
(B)
(C) A gy v RETe
(D)

D) A 5:0a50 R Sosr $iy
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65. Which of the following facilitates | 65, Joxus Foodesss Frssad a9
?
empowerment 7 (A) ssiavon Sisiasse
(A) Self help (B) 58 Dois S
(B) Belief in one’s own strength (C) dovmvarse
(C) Pessimism (D) o, Seso
(D) Help seeking
66. soirde E808® w0 808 Beosdess HE
66. Arrange the following events that occur in 5008t £30y5500.
the context of women'’s life, in a sequential L oo m§5 S5
order.
_ Il TPy ¥8 B SRocke
I. Shortage of cooking gas
. Koames e.—sé’,)@@% esexose
Il. Limited time at disposal for productive s
work V. Kot I 05850 50 $kooioe
BeTroooowoes
[Il. Barrier to women’s progress §55.° ]
IV. More time spent on collection of (A) 1, 111, 15500525 IV
f.
irewood (B) III, IV, I, |
Code :
(C) LIV, 11,1
(A) L1 ITand IV (D) 111, IV, 1l
(B) N, 1V, lland |
(©) LIV, lland 1l 67. 308 oti> TS50, (POPED (A),
S
(D) 1, 11,1V and Il 8359 (R)
@O (A) : Fuse, Nobeso SolsTrakd
67. Assertion (A) : Fertility and mortality are HROPTUTSE?
higher in traditional society. GOLTO
FOTEON) (R) DO Gl Soee SR
Reason (R) : Every modern society has BE3% Tead 00D o
passed from low to high Te2o% JBACA.
rates. 200 T%3IS° DB ¥B BRrese ?
(A) Alis correct but R is wrong (A) A 5050 DR &%y
(B) A and R are correct (B) A %5805 R Sotr g5
(C) Aiis wrong and R is correct (C) A&y v RSTe
(D) Both A and R are wrong (D) A %2005 R 3ot 83
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68.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : The Gandhian model of
development was highly
appreciated and was
considered worthy of
implementation after
independence.

Reason (R) : The liberal economic model
of development presently
implemented in the country
has its roots in the Gandhian
model.

In the context of the above two statements,
which one of the following is correct ?

Code :

(A) Ais correct, but R is wrong
(B) Both A and R are correct
(C) Ais wrong but R is correct
(

68.

69.

80 Totk T O5ERR. (0FEs (A),
oo (R)
BOMES (A) ! FolErgace 3@@‘@%%
mod wRQ ST
STty é&&w&&.
B0 Bisos® winowad® &
(055 (HIZHo% KoTeres
mrod Bers® somas.
200 T%3IS° DB ¥B BRrese ?

$on0 0 R oy
A 550092 R So ST

A 835 O R 5380

By (R) :

A
B
C

(
(
(
(D) A %5805 R otz &3

) A
)
)
)

308 gy wdee 1 &% svonved e 26%
B0 st Hons.

e - | edor -l
D) Both A and R are wrong
| XS & 1. @808 268 wok
69. MaLtpT th”e author in List — | with the book & 205 e Teesdeo
in List —
List—| List— Il Il. @QS o Gy 2. 05§:@§§58@5 2—
I. Gusfield, J. 1. Protestant Ethics and the 56@ At e ‘o")“’%
Spirit of Capitalism M. éfggabaag 3. BERS vk
Il. Preston,P.W. 2. AnIntroduction to the 235‘6‘28&3%3 330:\3833 &
World-systemPerspective Fer0edS
I1. Max Weber 3. Tradition and Modernity: V. @?55 3. esb 4. asoTases @o:ﬁoé N3
Misplaced Polarities
qo@oc‘é§5
IV. Shannon, T.R. 4. Development Theory:An
Introduction & &
Code : | | ] v
| Il ] v (A) 3 1 4 2
(B) 4 1 2 3 o) 4 3 ’ 5
(C) 4 3 1 2 ©)
(D) 3 4 1 2 (D) 3 4 1 2
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Read the passage below and answer the
questions that follow based on your
understanding of the passage.

It is necessary to distinguish conceptually
between westernization and two other
processes usually concomitant with it-
industrialization and urbanization... while the
Industrial Revolution resulted in an increase in
the rate of urbanization and “highly urbanized
areas are generally highly industrialized areas,
urbanization is not a simple function of
industrialisation”... Westernization results not
only in the introduction of new institutions (for
example newspapers, elections, Christian
missions) but also in the fundamental
changes in the old institutions. Thus while
India had schools long before the arrival of
the British, they were different from British
introduced schools in that they had been
restricted to upper caste children and
transmitted mostly traditional knowledge to
mention only two of the most important
differences. Other institutions such as the
army, civil service and law courts were also
similarly affected.

Implicit in westernization are certain value
preferences. A most important rule, which in
turn subsumes several other values, is what
may be broadly characterized as
humanitarianism, by which is meant an active
concern for the welfare of all human beings
irrespective of caste, economic position,
religion, age and sex. Equalitarianism and
secularization are both included in
humanitarianism... The introduction of
reforms and the British legal system involved
the changing or abolition of customs claiming
to be a part of religion. This meant that

300 T LA TR BTS (505 Shogrmres

Hodowed.

FTdEGeSs, TG BIRITOIT ERB
FOER355es, B’aegsgéés'; BEosovss d&m
VPEHOI VBT Gol.JFOEE AvNo
Be3edste DopEeRs TOBoB. e Beeistes
(Foores TS whE FOEEdssm
FoTre, Z:é@s%ﬁ%ao FOFRESEI0 Gl &3
FusplelCRe/ath

FTDEse DOD Soge (GTEEInK T
BO¥es, AQEes, B AWHee) DTPess o0
B00e:G3 TP M Soiged® KOS Krtnes
BHo5™208. (DS H 0 (HRITIS Ho080w
PEB50S° FTTRLITHO0. oD, & QSR
TO FTRLE IPe. JTeE IS (o i
00 DEOK BIERW. P @ SoRTOiR0
&P DPBR0 WOSBEND. T POwo Toks
BPEN0.3B0 BOPTH I NgH, G BEg,
THORTTOS KT SOVGEOTT (HEFOBRTC.
3‘?5@5%9968 ©0BRNETE ) LIS (FFEIe
G008.588 QeoRedo e.—soééé:éom Foa0EEN B0
QORI NI, TR o oo S 1S, wode,
N0y, Doliovss edBom KT BogHrd)
eJomsSinco, Wervte, T*adstes Sotir X
S0 s @oécbﬁio.éoébémm, Be3&, 70

EUNESERMERA (Seooioe Wob BTG STTO
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religious customs had to satisfy the test of
reason and humanity if they were to be

allowed to survive. As British

rule

progressed, rationality and humanitarianism
became broader, deeper and more powerful,
and the years since the achievement of
independence have seen a remarkable
increase — a genuine leap forward in the
extension of both.

70.

71.

72.

Which one of the following statements is
correct ?

(A) Westernization is
industrialization

same as

(B) Industrialization in India started with
the advent of western powers

(C) Westernization should be understood
differently from urbanization

(D) Industrialization led to urbanization

Westernization alone was responsible for
(A) Rigidities of caste system in India
(B) Introduction of Panchayat Raj in India

(C) Continuity of ‘Zamindari’ system in
India

(D) Administration of areas as per written
rules and regulation

Traditional schools in India

(A) Practised no discrimination on the
basis of caste in admission

(B) Practised discrimination on the basis
of caste in admissions

(C) Were an example of co-existence of
all caste disciples

(D) Were seats of learning of out and
warfare

70.

71.

72.

RO Sk 0 SFras. BSge IRseed,
DOTTTOO GOGTIRoE W WRBIY, HIOVSS
50500 Bo¥RoTd. QLR TR0 Pl SRS
58 PS80, SIS WS womos.
DYHB F AT P00, 8 F208 $oaY Fgood.
FBOTEODT $oW TS’ @ FoTT ISR

0meoo.

308 T3SE° O T50 ¥SRA.

(A) Faodgstes, FOFREUE Dok o858

(B) gruganes® TFTHER T
FOFR356es (FrEogRcd.

(C) seedstesRs Pipom Faodsterd, wbo
TS 0)

(D) FOmRo35Tes eedsterds Trodissod.

TTBECR0 PG G Sl ?

(A) FoEtnes” Do ks 50580

(B) gruwcinod’ somaiodoed Sguis
FSavges0e

(C) rosdnes® ehoomd ¥y SRR

(D) ErORPEERR JoURTe, PO 863
(PoTrets FOoWE

FEEEeS’ Kooy UTs

(A) BIa8° S0 Jsgos FeSottso B,
(B) (@SamvS° So0wsaod Jngss Jedomron
(C)

(D) 33, 0ol DS ST+

DN B0 BHTD SIS STHFGE
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73. Westernization promoted the value that
P 73. FTHOEEe0 ) Jeokio (Foyroncd ?

(A) all people are equal irrespective of
(A) %80, Hoore odBOMT WOLET SHIEm
religion and caste

. _ (B) eliSoodons cnBasommio
(B) people of higher castes are superior

(C) western culture is supreme (C) 228 Boid exyBaosd

(D) people of some religious should be (D) £° 20z Dol T weanil’s .

subordinated
74, (DSRT0 o 9593 Bwite B8 TodLA.
74. Introduction of British legal system led to
(A) SPB 2905 9983
(A) New market system
(B) womewp orSE %G
(B) Subjective view of things

(C) Objective view of things (C) womop AGEFS HH¥e

(D) Inter-caste conflicts (D) om0 Rofg 3oges

75. With the advent of British rule in India 75. wéééé:%oés @935?6 @3%@..

(A) many customs disappeared
(A) TP TP BIPCKROAIT0.

(B) some customs could not survive
(B) §% esmroren ST AiTo.
(C) many customs were modified
(C) PP esTTres (2T°8y DoTOD.
(D) some customs were allowed to

: (D) 5§ esores Sodrma.
continue
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